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@® 100m? @ 10000a ® 0.1km?

@ 1ha ® 10m x 100m



@ 56000000g = 56t

@ 380000¢g + 0.063t = 443 kg
® 3.5t +820kg = 1170 kg

@ 0.7t 2 70g 2] 10000 Bio]T},

® 380kg + 4200 g = 380.42kg



kg
i

R



7.

ohe el AT Yol Foldl el AR FotAe

_160m. _

7

~~240m -~ 120m

a ch: km?



8. The Edol Holk % ha A4 AL

100m _300m-~ .




9.




712

~12m-~

~



11.

=27} 32m < ArzEgo] it

712

s
ct

o] HAZFE 0] Holi B cm?



12. o5 5 FAE 7R o= A A9 A9 7%

|

PA L.

7.7 £-2000000 g L. 6000000g+5 t

. 4000 kg-+800000 g 2. 12 t-620kg

Ck-
Ei =N



13.

A% 2

o [e]
- E
LR

SR
ct

A 150 el A7 484 ol

g Q1A LA @

kg

R



14.

shch, =

SR
=¥

@5 ohpE L] Aol = ¢t
EA7} 51 kg 1 A=

)



15.

B e
=%

A



REEEE

o]

Yo7} 15ha ©

16.

grt colg

4l
%
<A

Lt RE oo0E

29

o <



17.

25t77}1] AE 4 e EFe] g Al 5kg ©
HUth 30k A2 RS B AEerd 2

o]—/\]

g
-



18. o= 2H¥ g2 BeFe] Aol FAE 12,54t AUt o] Et 1a 9]
A= 2 kg 4U71?







20. thg-e Agolu] mhelA Saket Abvte] £AE thebl B,
wzoly] AL Aoyl 9] 2uhE 8T, Wgolu] - L
Al - & S Ao vha ol AT 43S B 1917
b2,
74 ol &[4 golulmzel|m Loy Loy |18y
43 (kg)| 385 620 040




